C3-3 NEGBE T ERFEEEER

iz (6) B | LR 8 A (29)
N\ B X e | T FY #2 A (8)
F =K P43z Mg;“f‘%;hl}; + ﬁ‘}_rﬁg'fﬂ i—:kr”,?fa g pjtfi ‘ﬁ:ﬁi | w2 (1) e (3) s (3) ps () i (3) p s (3) ks (3)
e 2o wel S| WU R (5) e (3)
: £ | &3
5/18~5/24 BEATE [BE @ N2 bxT e [ B W R Project 1: Travel|i# " #ghgiz |[FL 2 hEe |37 A APT N2 5P $ 22 FENM S |(EE S ARAT 2T E -7 %
Riaak A IR E s Planner BAERRET T (e S ACIELDNE Sl SRSl ﬁiﬁﬁ“ SEANE R N #in (&)
P SN D PRk B VLR B RPN A 3 Fid xR 3 mEAR
2 B 2RITHhpd R -4 ¥R | TE B R | i
4 FTRAH o |(REEN S kT S FACER|WE - F 5
o7 6 | 29 BOOFWAK [ HELGS AL (% 2 R AGAT ~db|open
Python 4~ £ & Y £ 03
Python #- % FIC AT 5
F B (7IT)
B2 %4738
ik
0/25-5/31 SEREHIRT BN AxTprg (R - Az kA Project 1 Travel|2 ##cfF @ ek BL 2 A€ (3P f APF D2 FPH ¥ 2R FEM YLD (A ZABRRT2I T AT F
Ml R Planner 2 * v AR i (F L) (36 0F RERER L (RER @ims(§ &)
Ve SN <D | PIIAFORRE (R AL B R FE YA EAD Y 4 FAFE2ARE A 3 NEAR
@ 5 S -0 #mﬁﬁ | TE B R [R i %
BPORASHK | REEN S T N HACER| W R A F
- 6 | 29 Python 448  |#4gs 4%  |% 2 3647 ~p|ope

Python #~ £ 2 ¥ A 33% i
N’: =7 &
-K( ?\ﬁ)
~2 FESH
ik
6/1~6/7 AEEwAg R E G N ART | Rp A T s Project 2: Paint|s i @ertaie B e R |37 p AP A2 EPH I 2R Emm Lo (B FZABRRE 210 F %
tEREP Il e Your Wall; Share|# ¥ " * v FERFEGPE) (RIBCDE (RERER L (AHR Fam (L E)
N Your Words B k| R AR SR PRI RN R 4 SRR R AR 2 e
7B L r & 2 M B | B 2-3 e | THE, BER R ¥k H
#1 TR W AL S T N A IR S g
- 6 | 29 BYOFAAH EAEGSAL [$ 3R A~ RT £ A;ﬁa—%
Python #~ #5 A3 'ﬁgn_g_@
Python #- #§ N{ EIE e
B R (Fc)

52 $£73H
ik o




C3-3 NGB E FERFEREER

T ie (6)

17 3
gy

AR (29)

248 (8)

A B A
E X #azze BAgy X 1 AT , .
¥ p Az szé:%f | RIR LN ‘%‘ ' fpE (3) P (2) 5 (3) ki (3)
el S| mEe (5) i (3)
2 L 2L
v F
6/8-6/14 AERTE R E Rop b i 8 e et BUOp AR gk N 2R R R R A 2|8k g
A r‘:;”‘gl .%; 2 ,I ;%tﬁi Your Wa” Share %#%;%ﬁi(*%g> :‘é‘- 3 B % ‘;ri‘}’_%_ Eﬁ(i mﬁ% A i "#&f" ﬁ .,_i‘ii g}iﬂi(‘_ﬁi_’ﬁ)
BILP your Words BRI SR E R D RR B E I RN 4 TR IAREA 3 REAS
[ 7 & G ooERR TR, BER R i€ K
%] Fafs de L Se gy S A ER \WE AW F %
-4 29 BUOEAMAH AL Ak 3 F A~k E L |wp

Python #~ #£
Python 4~ #%

B R (F)
HA2 $FHR
ik

Ky g5pH: 114852 1Tpih=2 11457 18p 4P

LXELAMPH 426" TpEH




